EAGRAROBREERT — 2 N— ABISH —F

20205 7R5H (B) 2[EKEE2H

BNz 257 28752 ¥5%R3mE (BS) U5l =8 [ml & [imeam |5 () 1o &
[A&£] 1 7 15,000,000 § 2 7% :6,000,000 § 3 3 :3,800,000 . 4 3% :2,300,000 ™ . 5 3 :1,500,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
i S . 43 | EIEE 57.9 1-1 35.3]104.9| 2 524 | #AKEE (EH)
1156 |N7T71TZv7 54.0 =) (+4) A(;;R)EH |a—KL—>3>
LiALLTIvIbEl BRIMNT2—Fv— 1ERERIS
o 4 3 | BEREEN 58.5 8-6 35.0| 98.7 | 3 500 |&E=ME (ER)
2/7/9|AY—E—=F 54.0 (3 1/2) (+o) | XFHEE (B)
LNZ—ka1—X B:7 htEr—x> 2N EBS
T 4 5 | BSHEN 58.7 3-2 35.7| 96.6 | 4 494 | KFEBB— (3#)
31811 /ANTE- 57.0° (1 1/4) © #) LS. M
R/ KT vy BiEAFYA RNZ— NEFE B
= B4 | FRHER 58.7 2-2 35.9| 97.3 | 10 | 442 |HHEEL (BR)
4 4| A= T7TF 55.0 (7€) (+6) | KT
R:d—IR7U2—Ib B:Xv— hANIL RS
s e o, KEFHRAR . - . . MEASN (EH)
s o | v vzxERIL [B] 4 | AH i A A Rl fﬁi THE
ARG TTR BIFATLROXS JO-Y—T7—L
8 a4 | B 58.8 9-9 34.9| 95.7 | 12 | 488 |iEKER (Xi#)
6 7\NTITIT 57.0 (7€) ) FLFLANTTT ()
RTIRAFIEL BRI LATYT RIRHS
i =\ o4 | EEBZ 58.9 7-6 356|946 | 9 476 | REEERI ()
718l1p| I-NVTFa 1R [B] 57.0 (1/2) (+2) | EEBSRER
A=K7 743 BRFyNARTy T b zae ]
i H A # 3 | SHEA 59.1 6-6 35.9| 92.6 | 1 458 | BANE (M)
8l5|5 | NYTHNRILIX 52.0 A 1/4) (g | REE
LY IRG4 TR BNV THRAF 4> 75> NG
N vy 4 | - 4 11-1 4] 8. 42 | AHES (R
97110l V=7V > 25— [B] R RTA o 0 |BAp8s) s (5_2) RIRRIE
L:id—WRTPUa— Bid—AHFIIRIE— J—H T — L
S 4 4 | BEED 59.6 9-10 35.7| 87.5 | 11 482 | EFEH (EH)
1wklls| 77y 777k 57.0 (1 1/4) G4y | W TITI -y
L:hTotr R BITVLAYAT TE HE
o — EIlRsE - SRS (El)
11 3| NEV Y X712 i 5 Hils (539/:) 3-4 36.7| 87.9 | 7 (5;6) :E“ﬁ'#
RiBA XS RV BITEY—F HREM TN AL-—Z>Ttr %
S o s 4 4 | AUETS 1:01.1 12-12  [36.0| 72.8 | 8 474 | ERAFIA (i)
12111 |A—FT>3>H%—-+ [B] 55.07|:jL (8) (+1a) | BB TV —>T7—L
R:A—-KHFA7 B:T7-XHI2 R NOERNTT— L
@ 71 L
) 45.9-35.3
NA>Z4 L | 12.0-10.6-11.5-11.5-12.3
@ I —F—@EBIERL
13—7+—
20—7—
Fol=5r= 6,4(2,3,11)5,12,9-(8,7)10=1
40—+ — 6(4,11) (2,3) (9,5,12)-7(8,10) =1
[ N3
BB 6 350M 714K 6-9 390M e E 5-7 320M JEHE 6-9-11 2,510/
8 B 6 1609 6-11 720M B = 6-9 760M @ 6-9-11 9,600/
9 160 9-11 7800 | | B H 6-9 1,470
1 240M

ABRICOVTHRTEEERROODE, THEB LS,




